Dimension

V15A, V18A Standard pressure control

INC.
Pl sdjustingt 196.8 44.5 Pressure adjustment
48 ——4.7633%%x32
Drain Port: G 3/8" 18 o w 44 , Filling port
: o = -@1
—— 6 [/ogle £e1 | 2-M12xP1.75
2 Q| wl =
ol
5 o ;
2 0] E: >
P~
uw

2
%)

(=
(=

160
/‘Fﬁew.s
| 110

" 4-M8x20 —/

Y L]
1 | 13 190
e By — 105.6
131
173 Outlet @25 TeR \_inlet @25

V15A, V18A Standard pressure control (SAE A 2 bolt) Please following order code no.12

MesOOO00O—-0O0000R]

E A

INC.
Flow adjustment 1965 ga8 Pressure adjustment
48 20025
’ g o [14.76:% %32
Drain Port: G 3!87 .8 § 5 illing port
DEC. & | /79l
[ = w| W i
= =1
2 & o
w j L 8l 9 <
:. r‘D = g | e @
By =TT+ _L o5 = 1
=1 . w
97 4 8

—
60

" 4-M8x20 / | !
@25 AL B 05
131
15 Outlet @25 e Inlet @25

V15G, V18G Remote pressure control

Remote pressure port: PT 1/4

Drain port : G 3/8" Pressure adjustment
\ 196.8 445 (Warning: don't adjust)

DeC. Flow adjustment 96.5
48 [04.76 57%32
z w " Filling Port
(8] 2 411 B
6 7[°F \ 2.M12xP1.75
w0 v
ol = -
ol & \ K
w0 =3 4
: =2 z = go| &
L—1 il
& o
/Lq::I | b Q
' 3-Mex20— | J
R 13 090
131 ®25 ~L511 T . 1056
131
173 Outlet 32 Inlet %25
utlet @25 165

o MFHELL AL B A ST A

eSpecification is subjected to change without notice.



Dimension

V15HL, V18HL Load-sensing control

DEC.

Drain port : G 3/8"
;)

44 5

Flow adjustment

206

=t
I~
)

-—

$25—

4-M8x29—/

- L9

———
1
I

Low pressure

adjustment
44 High pressure
Load sensing port : PT 1/4 L
= [04.7618°x32 n—
S o 4911 £
arg A 2-M12xP1.75
o| © =
o & i
= - |
>y S| 3 % S
s
p o
\ ©
T
090 |
105.6
Outletg 25 131 \_Inlet@ 25
== 164.6

V15B, V18B Multi-stage flow & Single-stage pressure
control (with cylinder)

(Remark : Install with A type control)

INC.
L 374 445 Pressure adjustment
48 ——(14.761"x32
Ro1j4  Drain port: G 3/8" 18 § © _ﬁ_l Filling port
8. |/ogles 2-M12xP1.75
g 5 9 © =
) E @ w“_ﬂ i ] 3 oo g;
X = / g 3 =
o o 4 o =
@25 LLI— | o 2
4-M8x20 —/ T
| 35,1 14 190
f 147 1?;.'6
173 Outlet @25 165 \__Inlet @25
V15C, V18C 2-stage pressure & Flow control
Low flow adjustment | 270 44,5 2-M12xP1.75 &
DEC.  High flow adjustment Drain port: G 3/8" 48 Filling port Low pressure adj.
[14.7613%x32 \ . ]
"’g’ 0 High pressure adj.
B ooloc -
ol = 4-911 &
S| = _——
2l 5
g |/l s = 6. &
- wy et o
= - ! cg o ,;‘; -
- —] w
3 —I o ; ; L
i + ‘é‘ g O =S
@25—"| 7 m I 2
A
am320— | | | 554 _L |13 i
' 147 105.6
p
= Outlet @25 113; Inlet @525

o FFHEUL AL B A AT AN

eSpecification is subjected to change without notice.




Dimension

V15CG, V18CG 2-stage pressure & Flow control + Remote

Low flow adjustment

270

Remote pressure port: PT 1/4

Filling port L
High pressure adj.

(Warning:don/t adj.

bEC. ., = 445
High flow adjustment Drain port:G 3/8"
; [14.7610%%32
} [ 8 e 4011
o *2Ps 2-M12xP1|75
ot (=] - ©
b ) & « ©
| v 1 -~ p il
[©) ©® ) || 'O go
E - | # + _[ . -~
Sl e — .
© o) @25—"|/ I <
p
f 4-M8x20—/ l L ‘ -
35.1 13 ]
131 I 147 1 1 10:?1.6
185 Outlet @25 165 Inlet @25

V15CR, V18CR 2-stage pressure & Flow control + Low tension unloading

Low pressure adj.

Low flow adjustment 270 44,5
i i Filling port High pressure adj.
DEC. High flow adjustment Drain port: G 3/8" g P
o 48
18 04.76:8"x32
o w
o ] g ¢
O oglog 4-@11 ¢ 2-M12xP1.75
° \ 2 - \ é | I
9 © \ g;' - y ©f
® @ 3 | | go =
P~ = +
) - ? =
E- = b i
® © @25—"| / 3
4-M8x20 — | "1
i3 ; g0
105,68
Solenoid control valves Outlet @25 131 Inlet @25
OFF:Low tension unloading 165
ON:2-stage pressure & flow control
V15D, V18D Low tension unloading + Pressure control
2-M12xP1.75
O Low pressure adj.
High flow adjustment 276
DEC. g
Solenoid control valves Drain port: G 3/8" Filling port High pressure adj.
48_144.5 04.76%%x32 O
w
O o _IEL._ g 4 — INC.
T by o3
o (5 28l 4-011
| =
= " B .o
2 & fo 2
r~ -
o —
= L
@25 — 3
4-M8x20 —] ; \
080
1056
185 Outlet @25 131 Inlet @25
e 165

o MFHEUL AL B A A TIA

e Specification is subjected to change without notice.



Dimension

V15DG, V18DG Low tension unloading + Pressure control + Remote

()

High flow adjustment

Remote pressure port: PT 1/4

276

DEC.  solenoid control valves Filling port High pressure adj..
Drain port : G 3/8" (Warning:don/t adj.)
J 44,5 s
O Q = 04.76:5°x32]
(o) 18 ‘é’ © L
Lo 4-o11
] £ ] 2-M12xP1.75
= == /
3 a — /| g~ Bl 5 2
s uy ! -~ dO 3
o 7 b S_I Tj?j: i . S
=1 Tl , | | 8 5
"L —' g .
© © @25—" 1 3
; 4-M8x26—/ i
131 35,1 13 090
F 147 105.6
185 Outlet @25 Jé‘% Inlet @25
V15E, V18E Electric 2-stage pressure control
Low pressure adj.
. . 276
DEC. High flow adjustment .
Solencid control valves Filling port i G i
04.76:8"x32
g o
o3 [ NG
ol w 4-9i11 B
i &l = N ‘_\ M 2-M12xP1.75
N : S - 6% 34| 3
7 = o
5 / ! m S
] : . L
@25— I 8 8
4-M8x20—/ | L
| 13 og
I 35’1147 ~ 1054i6
185 Outlet @25 - Inlet @25
V15EG, V18EG Electric 2-stage pressure control + Remote
INC.
DEG.  High flow adjustment 276 Remote pressure port: PT 1/4 — Low pressure adj.
Solenoid control valves: High pressure adj.
_\ Drain port: G 3/8" (Warning:don/t adj.)
44,5 E
O o 48 04.76:"°x32 )
(o) 18 § w L
_ 3] Slod ‘_3:9.31\
ol o 2-M12xP1.75
5 L I ] ! / o| | = ol
Ire) o — o relis] =
o = - |° P Nz «© <+
C (1) © g l i1 17 o
B "‘ # -é 1 _
' RPNl — Q'
© ) o2s—Y 1 [ - -
. 4-M8x2 ; A
13 90
91 ! 35'1147 Bl 1056
31 \
185 Outlet 25 165 Inlet @25
S NS R B o3
oFURE AL T A B TIHA

eSpecification is subjected to change without notice.




Dimension

V15F, V18F Electric 2-stage pressure control & Flow control

Solenoid control valves Low pressure adj.

Low flow adjustment

Drain port : G 3/8"
276 \

Filling port

DEC. High flow adjustm
—= ,\ [4.76:3°x32
He
O s
g < 4011
9_3“ E o aMﬂi2§P1,w
"gjl» h=0 = Sol b
P — > o e f ]
L) o - —_
S 8 2
o« g &
¢25— - I 8
4-M8x20 —/ | 1
351 13 090
147 1?;6
185 Qutlet ¢25 164.6 Inlet @25
V15FG, V18FG Electric 2-stage pressure control & Flow control + Remote >

Solenoid control valves Low pressure adj.

Remote pressure port: PT 1/4

- Filling port
Low flow adjustment 276

High dj.
DEC. High flow adjustment Drain port: G 3/8" e N pressure ag.
- 04.76. %32 (Warning:don/t adj)

O - 48 &

wn
o 18 g @ 4-911

! o 2-M12xP1.75

_ ; ge .

Q o o J 2 & &< o =

© & e A S o go| =

B _U o) -
- ) ﬁ . == 8
=0 ® § =1
© © 25 i| :l ! @
[ 4-M8x20 —/ I 1
| -35.1 13 | 090 |
131 147 105.6
185 131
Outlet #25 7646 Inlet %25

V15GM, V18GM Remote pressure compensator with NG6 interface

NG6
o0 + ., +
Drain port:G 3/8" [0 @ + ° + Pressure adjustment
i 196,8 445 ¥
a8 i —014.76:4°x32 Filling port
NN v
18 S| - 4-011
e e . 2-M12xP1.75
15)] ' gl ©f -
3| =
—| ™
=2
o| B
G ki 4 F
8] = g AR T o
/] \©
| 090
1 13
]2 e 1056 \
131
173 Outlet ¢i25 T Inlet #25

o MFHELL AL B A ST A

eSpecification is subjected to change without notice.



Dimension

V15GJ, V18GJ Remote pressure compensator + Proportional pressure valve

DEC.

196.8

445

Flow adjustment

Proportional pressure valve

Drain port : G 3/8"

[4.76:5°°x32

40
Pressure adjustment

]

vl

I

;

Filling port
¥ 2-M12xP1.75
odein ]

& w
oalos 4-011
) E 0 g 2 o )
§ 2 & § © )
g = - = 3 g2 >
of ) B FImRE. .
g +§B¢+ 118 :
4—M8x20—/ | :I ;
25—/ || || s 13 ?09506
173 __ Outlet #25 112; Inlet 25
V15GR, V18GR Remote pressure compensator + Electrical unloading
Pressure adjustment O
g 205 44,5 INC.
DEC. Flow adjustment 40,
Proportional pressure " +— Drain Port:G 3/8" Pressure adjustment
valve _\ % ]/— /(Warning: don't adjust)
A i g 04.76°3%x32 Q Filling port
Relief valve ] o % | /o3 og o 411 ) 2 M12xP1.75
g o r:{ e o /
& ol = & o n
© =] LI, Y 3 o6
< e + O
1 F@E e D LB INSpEL
h 4 o
s | AT L e
4- 13 | I
131 P25 o 147 =~ i1::)9506
Qutlet 25 . Iniet
173 1‘;;
V15GB, V18GB Remote pressure compensator + 2-stage pressure control
) 205 44 5 O
Drain port: G 3/8" =48, e
DEC. Flow adjustment e 18 High pressure adj A
; | EIGIE pressure 8c) . :
Proportional pressure B ]/ R g Pressure adjustment
valve cafalii b / (Warning: don't adjust)
\\ | =14.76"39%x32 % / S
o s i
Relief valve 6 | /o5los w| 411 2-M12xP1.75
CE T iy
o o| < N 1 © i)
| o g
g = — s 3 % 5
E_ 5 °§ 5 = f
= : :
4-M8x20 2
] 190 |
131 ¢25 105.6
Outlet & 25 131 Inlet @ 25
165

o FFHEUL AL A ST AN

eSpecification is subjected

to change without notice.



Dimension

V15GC, V18GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

DEC.

Proportional pressure
valve

Relief valve

@
T@
sl

)

Flow adjustment

" 205 44|5
48 . INC. 40
1 High pressure adj.
__F T— Pressure adjustment
i \ /] (Warning: don't adjust)
+().025
\ g DéJG 8:025¢32 % Filling port
6 | /oos 4B A 2-M12xP1.75
E HE E ’
93‘ b3 ~ b N o
s oo @
9 |—|_r 3_ r k= = 3 X 3
BT 1*® %\ ! I /;} =
- ?z s/ % ' g \J 8
4 hel =
4-M8x20 L _!

¢2s

| 0190

105.6

Outiet @25 [ \__Inlet $25

131
165

V15HQ, V18HQ Load-sensing compensator + Proportional flow valve+ Relief valve Low pressure

Proportional Flow

PEL: Control

Flow Adjustment

Adjustment
Drain port:G 3/8" High Pressure
252 +0.025 44 Adjustment
A\—smm 405 [OHTEB7N02 404 -l
= 48 2
| 14 ) Filling Port
g 2
D 6 | ogleg) e 2-M12xP1.75
wl © ) ~
& S B .
: T S Y S o 34 5
) ¥ o3 |
a — 8 -
o
7_“’| I | E 8
T
Outlet | 13 | 190
Threads code 140 i 105,6
10 : PT(RC) 1/2"
18 EIE0) 173 85 131 Inlet & 25
50 : NPT 1/2" 233

V15HK, V18HK Load-sensing compensator + Proportional pressure valve+ Proportional flow valve

Low pressure

adjustment
4-¢11 ;
Proportional pressure ; " " High pressure
Va,f; @ _l g:;g'" poet 1 & aia Drain port : PT1/4 adjustment
6.5 44,5, —047653%x32 44 ./ (Warning:don't adjust)
DEC. 48 /— i
Flow adjustment 1 o - —
=1
6/ RSRS o) 2-M12xP1.75
O gdq [T —e g
] \
N x ™ = : hS - N9 ';H: _& é\FA_ 93 <
ba q_. :' O _2 > % DR 11
T 113 | [ R
= B
90
131 &9 Outlet 13 =)
Threads code 198 1056
131 131 10 : PT(RC)3/4" 223 100 131 3
! 40 : G3/4" 262
?3&32 z?t/:ched Inlet ¢h25
in package) (Flange attached in package)

o MFHEUL AL F A ST A

e Specification is subjected to change without notice.



Dimension

V15, V18

DEC.

Thru drive (SAE AA $50.8, code C )
Thru drive (SAE A $82.55, code D )

M OO OO —UOEIDIE
M IOO0O-00eINO0

DEC.

Drain port: G 3/8"

INC.

185 445 Pressure adjustment
Flow adjustment Flow adjustment 48
O
4.76 +0 e
14 0 44 , Filling port
| 8 e
[ oglas 2-M12xP1.75
n-L. v v /
— ol
J_I 2§ o W)
—( 5/ el =
o
9 T H ?
L
0 $50.8 0 13 080
\ 35'114@ outl 1956 Inlet
utlet 131 nie
. -M10xP1.5 ) 2-M8xP1.25 185 @25 165 @25
i #h 2 pump if#h 2 pump
D : SAE A #82.55 C : SAE AA®50.8
Type A B C |CG |CR D DG E EG F FG G GJ |GM | HL | HK | HQ
QO Thru drive option| O OO0 |10 |0 C|aQ|e || olé
V15, V18 Splined shaft type V15, V18 Inlet / Outlet
375 37.5 311
_....I._G _.-_I_s 6 Outlet Inlet Inlet
] g 35, (2 035, 24, | 0351 50,8
S S 3
- ool | | oo od| o [@ @ o [ ~9® b _ D —
N g [ d B e § | ® g | ® 8 ==y
8 S g C> Cat> eTe [ |_
e ® e Ll
o 22 3 13,5 Threads code Threads code ¢24
i ey
313 31,3 23 SOINPT 3/d” SONET al

S: 13T DP16/32

o HFHESL AL F A

eSpecification is subjected to change without notice.

S: 11T DP16/32

Y

{TEH]

$1: 9T DP16/32




Dimension

V23A, V25A Standard pressure control

Pressure adjustment

Drain port : G 3/8" INC.
DEC. Flow adjustment —\
. 223 58.5 [16.3558x40
= g o
i1 4 CP OQA _
F e /ol
— &l gl 1
1 S
B | I D) be]
© og 2
$25 +D —69- = g
_(
q— -
b=
3 - : |
| 14
4-M10x16 262 Outlet 25 L Inlet 525
e 170
182
200
V23G, V25G Remote pressure control
Remote pressure port : PT 1/4
O Drain port: G 3/8" Pressure adjustment
L 223 ing: 't adj
NeZ Flow adjustment (Warning: don't adjust)
016.3538x40
m Filling port
0 0 [
oof °H A
= P e
™ o ~
i
$25 410
o A
o
0| ¥
146
182 4-M10x16 Outlet 225 \__Inlet 325
182

V23HL,V25HL Load-sensing control

O Flow adjustment

DEC.

Drain port: G 3/8"
223

Load sensing port:PT 1/4

Low pressure adjustment

High pressure adjustment

06.35:352x40

222 -8.025
25,08 -8 15

110

26,2

4-M10x16

170

238.5

14
Qutlet #25

200

o3
(=2}

=
w

\___Inlet #25

o FFHELL AL TS

{TIEA

eSpecification is subjected to change without notice.



Dimension

V23B, V25B Muti-stage flow & Singe-stage pressure control (with cylinder)

Pressure adjustment

Drain port : G 3/8" INC.
: 420 58,5 [ 6.35:263x40
RC1/4 51 N w 3 Filling port
18 opPe &
9 @
o S :
§ & 2
— _l 1] } = 0 g ?&3‘ 3
- 3 ]
‘D-t_ 25 N4 E 3 og| € @ _
—= n@ - v — =l
¥ z 3
S
‘IP) | B & & ; *RY
26,2 _.1_..1_4 146
AM10x16 ! - Outlet @25 Inlet #25
— 182
200

V23C, V25C 2-stage pressure & Flow control

Low flow adjustment

Drain port: G 3 /8"

Filling port
2905 \ 58,5 016.3558x40 \

51 HE
o RE = K
=aa\e) l 9 o @ -
—— 'k
[ —! =3 g
5| % = &
— (- - == @)
| 9.2.5//’(’@, 7 5
7 =
S S o /L | :
14
4-M10x16/ 202 4 Qutlet 25 146 \__Inlet ¢25
182 170 S,
182
205
V23CG, V25CG 2-stage pressure & Flow control + Remote
Remote pressure port : PT 1/4 INC.
7 Low pressure adj.
Low flow adjustment \ 290.5 58,5
DEC. High flow adjustment Duain port : G 3/8" 06.359%x40 Filling port High préssure adi.
51 l (Warning:don't adjust)
O b
O 14 § Lt m-
g [=lo] = =]
1 o 8 ol
0| N ol e T
B F T g8 &2 %o
J 3 3
; é - g =
@25 1 — 9 -n 5 &
b & 0]

| 14 7
4-M10x16, 1}.262 5 Outlet 325 149 \__Inlet #25

o FFHEUL AL B A AT AN

eSpecification is subjected to change without notice.




Dimension

V23CR, V25CR 2-stage pressure & Flow control + Low tension unloading

Low Pressure Adj.

Low flow adjustment
= 2005 56,5 i i High Pressure Adj.
DEC.  High flow adjustment Drain port: G 3/8" L
51
[6.3548x40 ol
N = = 18 ©
uy, =
9 g ©
S & 2 o
© — NS © ) Qo
N - 1 © o 0
- ] ]
. ‘-‘-"-]V 0 O b5
T - Nar—=t
| it 3
€ = T | P | =]
1 |1
- 4-M10x16 /' 1= 82 Outlet 25 ‘ 8 Inlet #25
170 182
Solenoid control valves 205
OFF:Low tension unloadin
ON:2-stage pressure & flow control
V23D, V25D Low tension unloading + Pressure control
INC. 7
Low pressure Ad
Solenoid control valves
O Duain port: G 3/8"
Flow adjustment \ Filling port
DEC. " 297 , 58,5 16.35 3% x40 \
= g e 4
S[EIR E -
T\ o 8
ol v
\E s & ©
= Uy N
© = 9
] ©
< S ©
o L
0 Ll
4-M10x16, Outlet #25 148 \M
182

V23DG, V25DG Low tension unloading + Pressure control + Remote

Solenoid control valves

1
O Flow adjustment \

Remote pressure port : PT 1/4

297

INC.

Low pressure Adj.

High pressure Adj.
(Warning:don't adjust)

DEC. Duain port: G 3/8" 06.3555x40 _Filling port
58,5 ]
uwy
§ e
s | oSks
o] ©
ol &
w
R 8
8
°g
-3 ©
S
81
14
4-M10x16 Outlet %25 146
205 182

\__Inlet #25

o SFHELL AL TS

S
y

{73

y3l

eSpecification is subjected to change without notice.



Dimension

V23E, V25E Electric 2-stage pressure control

INC.
Low Pressure adj.

High Pressure adj.

Solenoid control valves
O Drain port : G 3/8"

Flow adjustment -0.02 Filling port
DEC. DL E l 297 \ 58,5 06.35 -0.05 x40—\

Aty T \ I { Eg &
. i O _ 2 |f Sod 3
of 8 3
\E 5
] - A= g
925 4 .
| ©
% T
oL 146
182 4-M10x16 Outlet @25 Inlet #25
— 170 182
205
V23EG, V25EG Electric 2-stage pressure control + Remote
INC.
Solenoid control valves Remote pressure port : PT 1/4 Low pressure adj.

297 /

Flow adjustment [16.353%x40  Filling port

O in port : G 3/8"
TEY | \do:

1 R
; $25 ,2:{;@

51| 585
18

el
0

$22.2 -0.025
25,08 .15

266

(0]

266

119.5
61

|
0
$101,6-0.05

-« d &
B 3 AL p—— =
| 14
182 a-mioxis/ +—H 26‘2170 = Outlet @25 / 155 \__Inlet ¢25
l'_*_°205 182
V23F, V25F Electric 2-stage pressure control & Flow control
Solenoid control valves INC.
Low flow adjustment Drain port : G 3/8" Lo prosparerad)
- High pressure adj.
DEC. 06.353%x40 Filling port

[{=] [{=]

o o~

o E o™

$25 |
<
o
m L]
14
4-M10x16/ 26.2 - —'I"‘_ Outlet #25 146 \___inletgs25
205 e

o MFHEUL AL B A AT AN

e Specification is subjected to change without notice.




Dimension

V23FG, V25FG Electric 2-stage pressure control & Flow control + Remote

INC.
Solenoid control valves
Remote pressure port : PT 1/4 Low pressure adij.
Low flow adjustment \ 297 /
; ; 06.3588x40  Filling port High pressure adj.
DEC. High flow adjustment Drain port : G 3/8" e (Warning:
X B 58.5  don't adjust)
Qo 1. 8 o i

ogpg

] 9 | ~&

o) N|

L] (2]
JE©) N s~
3 ,,,
®25 _;é"’"‘ 4 _“AJ
f 8 /™ 1
14
o2 14
182 4-M10x16 B outietg25 _/ . \__inlet 925
182
205
V23GM, V25GM Remote pressure compensator with NG6 interface
NG6
00+, + F
f R
00 + " +
223 Pressure adjustment
DEC. Flow adjustment 51 B3
Drain port : G 3/8" 18 [16.35 -0.05x40

Filling port

58,5

0

25,08 -0.15

110

f L
|| 1a =
Qutlet 25 Inlet @25

182 4-M10x16

V23GJ, V25GJ Remote pressure compensator + Proportional pressure valve

223

51 Proportional pressure valve
18

DEC Flow adjustment )
i Drain port : G 3/8" Pressure adjustment
I .

06.35 992 x40

H 585
@ & o ) Filling port
- e
1@ B
ol = - -
| NS &le
g- . aa
o5 a
o ‘
5 oW
b ©|
Outlet @25/ 146 Inlet @ 25
182

o SFHEUL AL A ST A

eSpecification is subjected to change without notice.




Dimension

V23GR, V25GR Remote pressure compensator + Electrical unloading

)

DEC. 40 Pressure
. - ) _ djustment
Proportional J:l] 585 Drain port:G 3/8" a -
] ‘ (S (Warning:
pressure valve ‘ q r ’El don't adjust)
51 / = 36.35 35 x40 —E% Filling port
Relief valve P _211___ og oS
g r: 9 af & ©
o 8 & & r
o o - — © e PO o
T ‘-'l_ 7 L _L z il o
e Blb—= =
@25 ) _D 5 g 8
gt — [{=]
g-/% — = INSEZN
182 4-M10x16 []]262 _.I..L4 146
> Sgo Outlet # 25 182 __Inlet $25

Pressure adjustment
Flow adjustment /{

)

INC.

V23GB, V25GB Remote pressure compensator + 2-stage pressure control

295 INC.
DEC. Flow adjustment Drain port:G 3/8" 51 High pressure adj. 40
= Pressure adjustment
Proportional Iy .
pressure valve m 58,5 /Iﬂw (Warning: don't adjust)
—[6.35:55x40 / —
w
Relief valve B ’ Sos 1
e O 3
o ‘ o[98 © ‘
& 8w @ = 1
L] g - m! Ry - co o
| ‘_-l' L o] o +|q [
© P @ g ; h e
] > D | og —
25—+ TaTle, _ﬂ s A oo
<« ©
oo 3L ——= AR
182 4-M10x16 | 26,2 ! 14 146
170 Outlet %25 Inlet 25
200 == & 182 —————

V23GC, V25GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

i 225 'NC'
DEC. Flow adjustment  [Drain port:G 3/8" | _51 High pressure adj.
Proportional - q:l/:xr‘ ; ressure adjustment
pressure valve \ ﬁ 58,5 /Lo_wm (Warning: don't adjust)
-0.02 /
u@ 2 %6'35 005 x40 Filling port
Relief valve F 13 od| oS
© — 9 1 & 8 ©
& N & -
1 o | o ™
o = - ] © SO o
E.r * T _L h 3 -
$25— ) ﬂ A oo
©
i&\/ﬁw i 11— g\
Y2 a-m10x16 | || 26.2 |14 o
23(7),0 Outlet @25 / 182 Inlet #25

o MFHEUL AL B A ST AN

e Specification is subjected to change without notice.

9.




Dimension

V23HQ, V25HQ Load-sensing compensator + Proportional flow valve + Relief valve Low pressure

adjustment

Drain port: G 3/8"
272 | [16.35.0.05 x40

High pressure

i 116 58.5 o adjustment
51 w i
oeé. o 3’_ £ " Filling port
Flow adjustment ﬂ 9 e OZ )
™
H = -
5 Ng  gle
( & = | L ol sl _ &2
@ © ® @ EB‘ = q
S I - - = X ©
@ g (1

2482 __L...&
! l¢ 76,2 146

Outlet 200

Threads code 2482
10: PTéRC) 3/4" & Proportional flow control

40 : G 3/4"

50 : NPT 3/4"

V23HK, V25HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve
Low pressure
adjustment
High pressure
adjustment
(Warning:don't adjust)

i 284 A ]
Proportional Drain port: PT1/4

Drain port : G 3/8"
pressure valve —p—x - 116.358 x40

8w Filling port
NE .
& | ~ [
s 8 gl
El 0,
_o @ - 3 glt
® 2 i
__I_ 14 123 !
|.._._160— 75 146 Inlet
Qutlet 200 5
Threads code 247

10: PT(RC) 3/4" Proportional flow control
40: G 3/4"
50 : NPT 3/4"

V23, V25 Thru drive(SAE A $#82.55, code D)
Thru drive(SAE B ©101.6, code E)
DDDDD-—DD@DD [ Type |ale[c|celcr| D |pe| E [EG| F |F6| 6 | GJ|aM| HL | HK|Ha|
MEOOOOO-0O00B00 [Omwudweoston ]O] | | | [o]ofolo] | [o]ofo]ofo]o]

224 58,5
51 06.3558x40
Fl " boiy, 1 G 3/g" 2w
o) ~
9T DP 16/32 oT DP 16/32 low adjustment el ‘
o~ @
H Sl s
- wl o
¢ - «
S
N 3
0

+0.0p
$101,60
-M12xP1.75
146 106

-M10xP1.5

Links E : SAE B #101.6 Links D : SAE A #82.55

o MFHEUL AL B A S TIHA

eSpecification is subjected to change without notice.




Dimension

V23, V25 Rear port ( Please flowing order code no.6,add“B” )

MeOOOEO—-O0000

Z
s}

50

223

I

Inlet

Threads code Threads code
10 : PT(RC) 1" 10 : PT(RC) 3/4"
40:G 1" 40: G 34"

50 : NPT 1" 50 : NPT 3/4"

Duain port : G 3/8"

58,5 06.354 x40

51

[¢]
¢ 22,2 -0.025

925,08 -0.15

WQ‘BF
|
$101 6805

Pressure adjustment

| 14

B : Axial port

V23, V25 4 Connections for rear port ( Please flowing order code no.6,add“B2” )

2 72 N N I

Duain port: G 3/8"

223\

58,5

DEC.

Inlet

\i 51
T

(£
Z
-3.025 o
8 -0.15 g

Flow adjustment '!
-
o
0

$222
!1925.0

Pressure adjustment

Threads code %x:tlet - |
10 : PT(RC) 1" 10 PTRC) 314" !
40:G 1" 210 : PT(RC) 3/
50 :NPT 1" ' 140:G 3/4"
50 : NPT 3/4" }
Pipe code B2 : 4 connections for axial port 210
(interchangeable for side and rear port)
Type A B C |cCG | D |DG E | EG F |FG | G | GJ |GM | HL | HK [ HQ
QO axiaportopton | O | O Qa0 |0
V23, V25 Splined shaft type V23, V25 Inlet / Outlet
425
Qutlet Inlet
9
Qe 1 26,2, 132 i 1262 32
un
=
L o3 y 7
HE : .
5 8 9
p
22 Threads code Threads code
33.5 10: PTgRC 3/4" 10 : PT(RC) 1"
. 40 : BSPP( )3/4" 40:BS P(‘G) i
50 : NPT 3/4' 50 : NPT 1

S: 13T DP16/32

o FFHEUL AL B A S TIEA

eSpecification is subjected to change without notice.




Dimension

V38A, V42A Standard pressure control

INC.
232 58.5 Pressure adjustment
. » 151
DEC Drain port : G 1/2 13 ——[16.3588x40 - Filling port
Flow adjustment o' W
2 |ps|os :
=E © -
i =
L N o @
—] o oo
| k= = *Fipled
= f ] = o=
b 4 - Dc.v o h |
— sl e
5 4] i 2 oy
/ EI u —
30,2 | 14.5 146
198.6 4-M10x16 1 179 Outlet #31 160 Inlet @31
i 209 198.6
V38G, V42G Remote pressure control
Remote pressure port : PT 1/4
Drain port: G 1/2" Pressure adjustment
i 2323 5 (Warning: don't adjust)
. 119 8.3
Flow adjustment 3
DEC. 51 06.35 3% x40 -
18 = = Filling port
o4 Tel
g o
o @2 u
h =
l 8 g vl =
= R ¢ 72 )
o o~ [Te] Py
N T 7y b oF
S —
<+ Py
¢31 7 Y10 |
302 | 14.5 146
4-M10x16 s Outlet @31
x16 / l 179 utlet @ / 160 X Inlet 31
209 198,6
V38HL, V42HL Load-sensing control
Load sensing port : PT 1/4
Low pressure adjustment
Drain port : G 1/2"
High pressure adjustment
232 = 58.5
Flow adjustment
51 06.35:8%x40
- 18] 0 Filling port
o4 [fg}
9 =
s L=y 8
= B o 8 -
- ! & cu:f 7o - o
i ® L 9| @
o - N ol =
T3 o
o] 4@‘ =
4 o
e |
14,5 \
30.2 -I—-——-
4-M10x16, l 179 Qutlet @ 31 Inlet %31
209

o MFHEUL AL B A ST A

eSpecification is subjected to change without notice.



Dimension

V38B, V42B Muti-stage flow & Singe-stage pressure control (with cylinder)
(Remark:Install with A type control)

; 4285 58.5 INC.
& Pressure adjustment
Drain port: G 1/2" . 06.3555x40
uwy
RC1/4 o || & ®
oo -
/ 8 : -
— N g
- k= ™ o
© ||' 2
= oo ¢ 4 cg o
ol ] - - — ©|
o, =
N _“_J e
031~ /10 x =L
/ 302 _l__.1_4.§
4-M10x16 I 179 Qutlet @31 160 Inlet #31
209 198,6
V38C, V42C 2-stage pressure & Flow control
Low flow INC.
adjustment Low pressure adj.
b High flow g 294 58,5
i adjustment 002 Filli rt High pressure adj.
1 7 in o]
Drainport : G 112" |- o il 8r
1 ITe)
" g 2
° ol CEEE 8
o & -
l sl & @
9, o | o © « go| &
®) & F.’_) | H b ?\f, +ln -~
TN W — _L o9 h @
—_— 2 — 3 =5 —F =] —
0 H .
¥y i 2 H o
® ¢ 31 /1T | H - -
302 —l__ﬁ 146
J . — Outlet @31
198.6 4-M10x16 e @31 160 Inlet @31
209 198.6
V38CG, V42CG 2-stage pressure & Flow control + Remote
Low flow INC.
adjustment Filling port Low pressure adj.
High flow } 294 Remote pressure port:PT 1/4 . "
DEC.  agjustment Drain port : G 1/2" 585 High pressure adj.
- —\ &} ; (Warning:
= [16.3588x40 L don't adjust)
Ao f g =
T 9 og|od
i =
ol & o) o @
& I £
2 N m
T 1% K &
5 8
ol _lae) |Li\ o
317 /|0l —
4 M10x1f/ I 0z 148 outiet g31 /| [-—2— \Lﬁ_
-] 179 utle 160 nlet %31
209 198,6

o FFHEUL AL B A AT AN

eSpecification is subjected to change without notice.




Dimension

V38CR, V42CR 2-stage pressure & Flow control + Low tension unloading

Low flow INC. ;
adjustment 204 585 Low pressure adj.
High flow > " .
DEC.  adjustment Drain port : G 1/2" Filling port High pressure adj.
o 51 [6.35 48 x40 7 L
$ s | 8.2 T
- of &
o™
& Q o
o o & So| 7
ju o o E g
l pl—
il . 4
y Q
#31 __L
30.2 1 14,5 | 146 |
4-M10x16/ 179 Outlet @31 160 Inlet @31
Solenoid control valves 1
OFF:Low tension unloadin 209 928
ON:2-stage pressure&flow control
V38D, V42D Low tension unloading + Pressure control
Solenoid control valves INC.
Flow ‘ 301 585 Low pressure adj.
DEC. adjustment Drain port : G 1/2" (=811 006.359%x40 Filling port High pressure adj.
il wn
IRERAE 1 L
Oll°k T eglod 4
i o GC)D -
& ol B
o 1 .’ e @ S T B
N
- o B0 _L °,§ i &
rs! I == b B
& =) o
31 ——l—'
30,2 14,5 146
4-M10x16 I 179 Qutlet 31 = Inlet @31
200 198.6
V38DG, V42DG Low tension unloading + Pressure control + Remote
Solenoid control valves: Pl Pt INC. "
301 Remote pressure port: PT 1/4 Low pressure adj.
O :ziquwstment Drai G 1/2" 58.5 S pressie ey
Bk j rain port : & (Warning:
- - 2L 16.3588x40 1 don't adjust)
[ 5 .
2 |oglos
o o
—lj e o Ko oo~
| 1 ! = 5 10|
£ r~ ® .1 C’g P \rm-
- - e 0| -
1 Py = 3 "
[
31 Ll |
/ 302 14,5 146
4-M10x16 179 : Outlet @31 160 Inlet #31
209 198.6

o SFHEUL AL B A ST A

eSpecification is subjected to change without notice.




Dimension

V38E, V42E Electric 2-stage pressure control

Solenoid control valves

INC.
Low pressure adj.

O 301 58.5
002 o High pressure adj.
DEC. Drain port : G 1/2" 51 [0 6.35.005%x40 Filling port
_— 18 -
ol w A
B2 2 |[ogles 3
] o Lot w0 |
o o o
1 o 2 ?g 8§
o) — o 3]
i 10 e = il p_ ]
] : H [
= h
d i
31 _dr Ep
30.2 __l_..& 146
4-M10x16 Outlet ©31
el 179 —tutlet 2I7 160 Inlet #31
209 1986
V38EG, V42EG Electric 2-stage pressure control + Remote
Solenoid control valves Filling port INC.
e Remote pressure port : PT 1/4 Low pressure adj.
O adjustment Drain port : G 1/2" 58.5 High pressure ad).
: - = - (Warning:
—— o | don't adjust)
O =8 E
o 9 8 =
=
\E T E‘ ol 0 o 9
© IR go| T
© A i 31
~ = ® q W . z h 9
<t 1 ; ===
) B h N
331 | H
30,2 __l__.ﬁ 146
198.6 4-M10x16 179 Outlet #31 308 Inlet @31
209 1986
V38F, V42F Electric 2-stage pressure control & Flow control
Solenoid control valves: O
INC.
Low flow ;
adjustment s Low pressure adj.
D(E2 H(;Qh flowt } 301 o 002 Filling port High pressure adj.
: adjustmen : ; w2l 3570 L
‘\ Drain EOﬂ,G‘h’Z 7 mﬂﬁ 35-0:05%40
9 || S| = T s
Ok o5log 2
= o) @ -
i =
8| g B
I I ° g 29 &
o) — o w
~ o 1l 4 ]
(7] ﬁ E e
1U CPS
g1, Y| H
3 30.2 _.L..__a._. 146
- - Outlet 1
4-M10x1 179 utlet #3 160 Inlet 31
209 198.6

o HFHESL AL TS

TRl

eSpecification is subjected to change without notice.




Dimension

V38FG, V42FG Electric 2-stage pressure control & Flow control + Remote

Solenoid control valves

Low flow i INC.
9 Filling port
adjustment Low pressure adj.
High flow 301 Remote pressure port : PT 1/4 - :
DEC. adjustment - 58,5 High pressure adj.
_l_\ ]\ Drain port : G 1/ : (Warning:
T (51 don't adjust)
v O o a g'
O 9 =
{is] o
g th o %ol
) i I e
'*| T i q o
s = & i
& o
31,7 V|0 __l_ &
/ 302 | 14.5 146 \
4-M10x186, | 179 Qutlet & 31 160 Inlet @31
209 198.6
V38GM, V42GM Remote pressure compensator with NG6 interface
NG6
00 + ., +
i e [
00+ ° +
DEC 232 Pressure adjustment
; 51
Flow adjustment | Drain port: G 3/8" [~ 14 06.355% x40
585, | S| © Filling port
! 5 |fesles
f[—‘ g‘ 2 2
- ™ ﬁ gt Bt
~ ® R & ?9 o
o o, = w0 =
~ K 3 ﬂ h
ol _$'
+) h o
s31 7 YOl |
30,2 146
4-M10x16 | 179 Qutlet 331 160 Inlet %31
209 198,6
V38GJ, V42GJ Remote pressure compensator + Proportional pressure valve
2323
Flow 51 Proportional pressure valve
adjustment 1 /
Drain port: G 1/2" [~ Pressure adjustment
Ed] 06.35 38 x40
EI | 58,5 /_§ © Filling port
;_ 9 [osles
e Sl o 8 -
8 = R
= =y

73
58,7 |
®
@
11T L
0
101,6-0.05
121
+0.3
1350
1135

Ok | —t
b
L] o
P~
$31 -d]_ I i
/1 1 lsga || 145 146
4-M10x1 < 179 Outlet @31 - Inlet @31
209
0 198.6

o FFHEUL AL B A AT A

eSpecification is subjected to change without notice.



Dimension

V38GR, V42GR Remote pressure compensator + Electrical unloading

/— Pressure
adjustment
DEC. Flow adjustment 232 571585 INC. ; )
Proportional pressure [ . -] ressure adjustment
valve I:FI / — Drain port:G 1/2 (Warning: don't adjust)
EI ] ( [06.35 38 x40 _
Relief valve g /IJ 9 § 2 Filling port
o) £ ! s )
3 N 3 [
5 Al ]| &
o m'l_ | )
i ¢ @
D =N i B ia| |2 A ,
5 [3) —
o) f N
- ¢317 30|2 = | 14,5 T |
1986 4-M10x16 i o Outlet # 31 %—J Inlet 31
209 198.6
V38GB, V42GB Remote pressure compensator + 2-stage pressure control
232 Q
DEC. Flow adjustment |Drain port:G 1/2" | 51| 58,5 High pressure i, " P
Proportional pressure I 1 ressure adjustmen
valve I:P /Low pressucs adj (Warning: don't adjust)
=~ quﬂ::/ = D§.353:8§x40 »
Relief valve p 18 / gcg Filling port
__E «© L J O:j‘ g o) :
3 \| S| 3 5 o
= NI E «0 o
mr Jh—T"TT= i o
Is ® @ =
S %] E —L. e 2 )
i el : .
i / 302 | |145 / s
108.6 4-M10x16 A - iy Outlet ¢ 31 :gg Inlet @ 31
209 198.6

V38GC, V42GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

@,

DEC.

Proportional pressure
valve

Flow adjustment

Fa

232

Drain poE}Q 1/2"

51

INC.
High pressure adj

58,5

\

Low pressure adj

[16.35:88% x40
Relief valve 1 & =
=] 8 =
o8 [wg 2
S = ' q| &
- | <
o3 (2]
h-l; Y TR i’:‘ -L. °§
uy — =
ARSI 2
H-Utjlﬁ ¢31f —
198.6 4-M10x16 A P 1 14,5 Outlet ¢ 31 /
209
o FRHEUL AN EI AN ST A

eSpecification is subjected to change without notice.

Pressure adjustment
(Warning: don't adjust)

Filling port

o]
|

Inlet ¢ 31




Dimension

V38HQ, V42HQ Load-sensing compensator + Proportional flow valve + Relief valve

Drain Pgrt: G 1/2"

Qutlet

Threads code
10 : PT(RC) 1"
40:G 1"

50 : NPT 1"

Low pressure adjustment

High pressure adjustme

L 1485
209

Proportional flow control

280
19 |-283
[6.35 36 x40
51 0
M 9 [s)
o w
9 Q| =
oolog g
o~ = =]
ol S
o wn
= l o & gl
- h 5 )
- ! og)
o | 2
i S

V38HK, V42HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

DEC.

Flow adjustment

Drain port : G 1/2"

Proportional

2921

10: PT1(RC) =
40 . G "

50 : NPT 1"

pressure valve 119 58.5 6.353% x40
= 51 -
[‘ 18 8
9 | 22 3
<g B
=3 e 2
o7 N&
WIS e
A D)
e Z
3 | 14,5
Outlet Drain port : PT1/4
Threads code

Proportional flow control

V38, V42 Thru drive (SAE A ¢82.55,code D)
Thru drive (SAE B »101.6,code E)

MeE OO0 —00RILIC
MeEO00O-00EDC

()

DEC.

Flow adjustment

14T M1.25

14T M1.25

+0.05
$1016 0
146
Links E : SAE B #101.6

-M12xP1.75]

f—2
Links D : SAE A #82.55

Type [a]8[clcelcr] o |oc] E [es] F [Fe] 6 [es]em]HL [HkHa]
[OTrudiveopion [O| | | | |oJojojo] | |o|ojo|o|o]o]
Pressure
232 385 adjustment O
: . w51 INC.
Drain port : G 1/2 = = 06.35 22 x40 o Filling port
sl § °
@:% og|eg ]
o B8 x
[ NI u @ 0
®l e o 9| 2
AAT w 2 1] ¥
N[ H | og] h @
. M 5 — ©|
M § P o~
oyt e N ‘
= =
30,2 14.5 146
174 198.6
231
S A= [ea e
Y S T NN N2 e 3|

eSpecification is subjected to change without notice.



Dimension

V38, V42 Rear port ( Please following order code no.6,add“B” )
Meg0OEIO—-00000

2O

232 58.5, NG Pressure adjustment
51
Duai ; " [06.35 §# x40 an
uain port: G 1/2 r_ﬁ T Filling port
DEC. s |/ 2] =
Flow adjustment al i
ol < [
o 8
=
K © A = =
: = = W [ | _L &
; ffg[ . H [ -
Inlet / Outlet ¥ W5
BB 18°PTIRG) 1 =
40 G AT 40:G1" 241 198,6
50 : NPT 1-1/4" 50 : NPT 1" :

B: Axial port

V38, V42 4 connections for rear port ( Please following order code no.6,add“B2” )

2 2 [

L 232 58,5 NG, Pressure adjustment
51 002
1 = [06.35 005 x40 Filling port
Cover plate g gl 2
DEC. - |[eg o _
Flow adjustment % ~f =
ol <
S &
Th——T"rge
b = -
= W = og N
H— %)
Outlet = b=
Inlet Threads code - =
Threads code . " o L
AL Biek. [|ss
50 : NPT 1-1/4" a4 Sl ' 179
179 198.6
Pipe code B2 : 4 connections for axial port 208
(interchangeable for side and rear port) 231 224
1
Type A B (o] CG | D DG E EG F FG G GJ [ GM | HL | HK | HQ
QO Auial port option O|O0|O|O IO ]|10|0 |0
V38, V42 Splined shaft type V38, V42 Inlet / Outlet
42,5 47
g 9 Outlet Inlet
= , 302, 1-32_, 30,2, LBy
2 - [ I I T | |
d o ;
= | < = ]
| oo o
HET BEET 1D 1 1D
| g g
s s -
W QOutlet Inlet
.y 23 L 27 Threads code Threads code
335 38 10 : PT(RC) 1" 10 : PT(RC) 1-1/4"

40 : BSPP(G) 1" 40:BS P(G) 1-1/4"
50 : NPT 1

50 : NPT 1-1/4"

S: 13T DP16/32 S$1: 15T DP16/32

o FFHEUL AL B A S TIHAN

eSpecification is subjected to change without notice.




Dimension

V50A, V70A Standard pressure control

INC.
Pressure adjustment
Bed I 306 57
. O | :0‘02
Flow adjustment 73 - fisinnie N
Drain port: G 3/4" . 33 S 74 Filling port
10)f oc|og |
wl
e
[ | 5 B o 0
i S = ool §
o« 0 | «~ ol —
@ 3] ® @ 93‘ < 1
= L S o angs
® © = Hh o
S ! ]
$38 | - \ S
24
st amizwos/ 11 1 387 7 o
. 2565 181
300 Outlet 38 208 Inlet ag
261.5

V50G, V70G Remote pressure control

Pressure adjustment
(Warning:don't adjust)

Drain port : G 3/4"
Remote pressure port : PT 1/4

L 306
L 180,5 57
0.02
Flow adjustment 73 [07.94 205 x45
33 & Filling port
3 102l T
| o —
M~ o)
o @
2 st 3
)
& ® 7o @ Qg 2
T 5
[) L
938 [ I
24
4-M12x25 | 35,7 —L"_ B 3 <
256.5 181
300 Outlet #38 208 Inlet 38
2615
V50HL, V70HL Load-sensing control
Low pressure adjustment
Drain port : G 3/4" - High pressure adjustment Load sensing port : PT 1/4
1
Flow adjustment I
DEC. Flow adjustmen
w—07.9458x45
o™
19 oGlo |
ik 3
—| gr:
Lot f32)
= ol @
) T3] ol =
5o 1.8 &
g
$38 i
24
4-M12x25 }
256.5
300 Outlet 38 208 Inlet #38
261,5

o SFHEUL AL B A ST A

eSpecification is subjected to change without notice.



Dimension

V50B, V70B Muti-stage flow & Singe-stage pressure control (with cylinder)

(Remark:Install with A type control)

INC.
Pressure adjustment

07.94 28 x45

/ & e 74 Filling port
oglog |
wl W
N o
o 8 o 9
= p 2
°q 9 i3
o 0 |8
0115
181
Outlet #38 208 Inlet @38
2615
V50C, V70C 2-stage pressure & Flow control
V50CG, V70CG 2-stage pressure & Flow control + Remote
Low INC.
oW Tiow H
adustment 144 Low pressure adj
High flow 4094 57 84 Hignl'_a‘ir? ’f,if,'-{;";,ig{
DEC. adjustment ] 73 otz (CG type)
Drain port : G 3/4 3 o [07.94 505 x45 Filling port
33 0 ] /
o) (o)
10 oo|oo e
e 2]
~| o - y
=] W w0 72}
| o -
P 81 3¢ /8
® @ =) S D *
Lol
v - j 1) | s
® g R 18
$38 [ .
/ | 24 e
4-M12x25 ! 357 Rl 0115
2565 181
300 Outlet #38 208 Inlet 38
2615

V50CR, V50CR 2-stage pressure & Flow control + Low tension unloading

o

INC.

Low pressure adj

Low flow
adjustment 84 . .
O High flow . 400.4 57 High pressure adj.
DEC.  adjustment Drain port : G 3/4"
73 !
kT gm.ga?&%% x45$ Filling port
O T P
| sl & . o i
3 8 2 2@
e 5 g ol &
o0
by ey k== g - -+
9, =3 o
$38 [ F = | ™
24
4-M12x25/ 357 “'I—"—" 0115
’ 256.5 181
Solenoid control valves 300 Oufiet $38 208 Inlet $38
OFF:Low tension unloading 2615

ON:2-stage pressure & flow control

o FFHEUL AL B A ST AN

eSpecification is subjected to change without notice.



Dimension

V50D, V70D Low tension unloading + Pressure control
V50DG, V70DG Low tension unloading + Pressure control + Remote

229 Low pressure adj. O
i 330.2 High pressure adj.
.5 57 84 (Warning:don't adjust)  INC.
i Drain port: G 3/4" | 73 (DG type)
Remote pressure port;  Flow adjustment 2 po f_ng] 7.9438x45 Filling port
PT 1/4 (DG type) a3 8| « /
o5 51 4o
['e] Wy
~ o -
= Tel
o g9 2
9l - 1 o S
8 @ ® @ =
Ao D , 2 o o7
el _Jote g
©
938 [ 1
I 24
amizees/ | | 35.7
Solenoid control valves 300 \_Inlet #38
V50E, V70E Electric 2-stage pressure control
V50EG, V70 EG Electric 2-stage pressure control + Remote
Low pressure Adj.
A 330,2 229 High pressure Adj.
57 84 {Warning:don't adjust) INC.
DEC. . [
Flow adigstient __Drain port: G 314" ,_73 07.0428 45 e oriEG type)
Remote pressure port: 33 b gp
PT 1/4 (EG type) 10 cg gg S
@ Aol ¢ ]
~| @
- w3y -]
g o S ¥
a8 @ O s
i a 7
@ L/ &
D, g
@38

|
| | 24
4-M1 2x25/ 357

261,5 v 256,5
300

Solenoid control valves Inlet #38

V50F, V70F Electric 2-stage pressure control & Flow control
V50FG, V70 Electric 2-stage pressure control & Flow control + Remote

Low flow 229 i Low pressure adj. INC.
adjustment Solenoid control valves High pressure adj.
High flow \ A (Warning:don't adjust)
DEC. adjustment | 57, (FG type)
T R— . . o7 ol
Remote pressure port: Drain port : G 3/ v — (07,9458 x45 N
33 & Filling port
PT 1/4 (FG type) : 70/ o 0 9P
@ ] l sge s o _
© a=c i 5 8 | o %
o sl ol 9 20|
g 5 78" N
og
i en jina=s L 1
e = =l
38~ /-HI| | I ; i
4 T
4-M12x25 35.7 e ~ons
256.5 181 Inlet
300 Outlet 38 / 208 38
261.5

o MFHEUL AL B A ST AT

eSpecification is subjected to change without notice.




Dimension

V50GM, V70GM Remote pressure compensator with NG6 interface

NG6

DEC.

Flow adjustment

83

649,

Pressure adjustment

$38
4:M12x25/

306
73
33 [17.94 3% x45
Drain port : G 3/4" 57.] & L
[=] o~
10] =5}eS
wn L
~| ™
b,
™ o
9‘ ['s)
v g g
¥ —t 5
L) _g
I i
e
: 256.5
300 Outlet 38

Inlet #38

V50GJ, V70GJ Remote pressure compensator + Proportional pressure valve

; 30
Pr:)portlonal pressure - Pressure adjustment
i Drain port: G 3/4"}—-73.
33
() .
DEC. 0| PL 8
Flow adjustment ] 10l o5los
Wy uy
\ _F;: = ol
~|
b o) )
ks
(3]
L=} & L)
S ‘ —
L)
®38 [ \
| | 24
4-M12x25 | }.357 B o5 )
—_— 256.5 181
22 __Ouflet ¢38 208 Inlet /38
2615
V50GR, V70GR Remote pressure compensator + Electrical unloading
Pressure adjustment O
306 INC.
74 Pressure adjustment

DEC.

Flow adjustment 73 | 57 /_Drain port:G 3/4" - ‘
Proportional pressure = D] / (Warning: don't adjust)
valve f 07.94:08 x45
' 33 § i Filling port
Relief valve | 10/es|ee
¥ w| v -
~| o
o —| W o
g 8 g g 24 go g’
N AV M ) £ o [ 7 Vo
LA © L/ - ~ o \YZ/j €
2 by ) e 3
®3 T i ~ = | Z;
4
4-M12x25-/ HH38T 2 0115
2615 256,5 Outlet ¢ 38 181 inlet #38
300 208
2615

o MFHES AL TS

EULARE P SATEA |
eSpecification is subjected to change without notice.




Dimension

V50GB, V70GB Remote pressure compensator + 2-stage pressure control
High pressure adj.

306 =
Drain port:G 3/4% 73 Low pressure adj. : 74

Pressure adjustment
(Warning: don't adjust)

DEC. Flow adjustment

Proportional pressure

$2x45

valve
Filling port
5 T8 2 o
! w9
bt = So 9
- - - I 9 — --:|+OD ~
a N o3 @87, ) s
N/ < L — & () N o
) s > et 'c
638~ AH | | F T
4-M12x25—/ 35T —H 2 0115
261.5 256.5 Outlet ¢38 181 Inlet 38
300 208 -
2615

V50GC, V70GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

DEC 306 High pressure adj. |NC.
. i . " -

Flow adjustment Drain port:G 3/4 ?ﬁ/ Low pressure adj. 74 Press%lre ad;uslme-‘nt
Proportional pressure q:\%] i Ve — / (Warning: don't adjust)
valve i [17.94 3% x45

Filling port

10| =

‘/

&

0.025
35.35.02

$31,75-

[+2]
3 @
® 8 5 /
D 1 =1 o [ (7
: =y | RS
® - N A 2
ol &) G;/] 2
@38 L
| | 24
4-M12x25—/ 1357 R 0115
2615 256.5 Outlet @38 181 Inlet # 38
261.5

V50HQ, V70HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure

adjustment
High pressure

Drain port : G 3/4" INC. adiustment
421
\ 1805 57
BeC. 2 —07.94 3x45 y
Flow adjustment 33 = S - Filling port
[=] wl (22}
L] = o 2]
3 5 8 =
s]j i ©0 L3 )= h
1 : 5 4 i
00 s 0 b 13
104 Ml ka
Outlet . 300 o115
3148 Threads code 3214 181
¥ 10: PT(RC) 1-1/4" 208
40: G 1-1/4" 3148
50 : NPT 1-1/4" )

o FFHEUL AL B A ST AN

eSpecification is subjected to change without notice.



Flow adjustment

Proportional
pressure valve

DEC.

Drain port : G 3/4"
fi 454 \

Qutlet
Threads code
10 : PT(RC) 1-1/4"
40: G 1-1/4"

50 : NPT 1-1/4"

0
o 31 ,75-0.0?|

(Warning:don't adjust)

Low pressure adjustment

High pressure
adjustment

[07.94:30x45

35.35-8,2

0

$127-0.05

300

3214

Proportional flow control

322

V50HK, V70HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Drain port : PT1/4

80

MEOOOOO—00RIC0]
MEOOOOO-00EDO

V50, V70 Thru drive (SAE A ©82.55, SAE B @#101.6, code D or E)

eSpecification is subjected to change without notice.

INC.
. 4 306 57 Pressure adjustment
Flow adjustment | . . |~ 07.94 3$x45
G - 33 9 74 Filling port
S| o
ocloo
w wn
L I
e wn
: i N
& [ wl- h* | ©
= g _@ L
& - rEE
o - h |g
+0.04 | o
¢ 82,55 0 2.M12xP1.75 256.5 s M 1
146 ‘ 181
e
Links D : SAE A #82.55 E:SAE B ¢101.6 e
Type A|B|C|CR|ICG|D [DG| E |EG| F |FG| G | GJ|GM| HL | HK | HQ
QO Thru drive option | (O S8 |6 | & Olglo|lolo| o
S SR A S
o HUSE AN TR S TIEA




Dimension

V50, V70 Rear port (Please following order code no.6 add “B”)
(s OO EICO—0O0000

INC.
306 57 Pressure adjustment
e ads cod 1@#:;?% code Flom? Ec(i}bstment 73 20
reads code . " X
10: PT(RC) 1-1/2" 10: PT(RC) 1-1/4" —\ |Drainport: G 3/4 33 el 74 Filling port
401G 1-1/2" 40 G 1-1/4 w8 & __|
50 : NPT 1-1/2" 50 : NPT 1-1/4" e ]
2 &8
! q8 o o 8
o . ool o
ol L A 8[ o3 EF P
\N7 _®— D1 1= & @ 5 =
269 24 _ot1s.
357 Axial port 2955 181
Pipe code B : Axial port 300 261.5
357
Type A|B|[C|CR|CG|D [DG| E [EG| F |FG| G [GJ [GM|HL | HK |HQ
QThrudriveoption | O |O [O|O[OJO|O|O|O|O|O|O|O|O|[O
V50, V70 Splined shaft type V50, V70 Inlet / outlet
55,5 QOutlet Inlet
10
W 35.7 | 32 357 i 32 i
- D @ 70 &
0 o) o
S @ @
— o0 w w
= :
5 4 :
i | Toreatcte e ToreaeRse i
f— 22.9 40:G 1-1/2" 40:G 1»1;2)"
50 : NPT 1-1/4" 50 : NPT 1-1/2"
455

S: 14T DP12/24

o MFHEUL AL B A S TIEAN

eSpecification is subjected to change without notice.




Pump combination

eSpecification is subjected to change without notice.

_Pump1 | V15 (V18) | V23 (V25) | V23 (V25) | V38 (V42) | V38 (V42) | V38 (V42) | V50 (V70) | V50 (V70) | V50 (V70)
Pump 2 | V15 (Vi8) | V15 (V18) | V23 (V25) | V15 (V18) | V23 (V25) | V38 (V42) | V15 (V18) | V23 (V25) | V38 (V42)
A | G3/8 | G3/8" | G3/8" | G3/8" | G3/8" | G1/2" | G3/8" | G3/8" | G1/2"
B G3/8" | G3/8" G3/8" | G1i/2" G 1/2" G 1/2" G 3/4" G 3/4" | G3/4”
C 57.45 | 57.45 61 | 57.45 61 73 57.45 61 ‘ 73
D 35.1 | 35.1 524 | 35.1 52.4 58.7 35.1 524 | 587
E 351 | 35.1 26.2 | 351 26.2 30.2 35.1 26.2 30.2
F 35.1 | 52.4 52.4 | 58.7 58.7 58.7 69.9 69.9 69.9
G 35.1 | 26.2 26.2 | 30.2 30.2 30.2 35.7 35.7 | 35.7
H M8x20 | M8x20 M10x16 | M8x20 M10x16 | M10x16 M8x20 M10x16 | M10x16
1 M8x20 | M10x16 | M10x16 | M10x16 & M10x16 | M10x16 | M12x25 | M12x25 | M12x25
] 147 | 147 170 | 147 170 179 147 170 179
K 147 | 170 170 | 179 179 179 256.5 256.5 256.5
L 332 | 369 402 | 378 401 410 464 493 | 502
M 382 | 419 455 | 428 454 465 515 546 | 555
N 48 | 48 51 | 48 51 48 51 51
0 48 ‘ 51 51 } 51 51 51 73 73 1 73
P 6 \ 9 9 \ 9 9 9 10 10 T 10
Q 4.76x32 | 6.35x40 | 6.35x40 | 6.35x40 | 6.35x40 | 6.35x40 | 7.94x45 @ 7.94x45 | 7.94x45
R 13 \ 14 14 | 14.5 14.5 14.5 24 24 ‘ 24
S ©19.05 | @22.22 @22.22 @22.22 @22.22 ©22.22 »31.75 @31.75 @31.75
T 21.15 | 25.08 25.08 | 2508 | 2508 | 2508 | 35.35 35.35 | 35.35
U ?82.55 | ©@101.6 ©101.6 | ©101.6 ©101.6 ©101.6 @127 @127 | @127
v @25 | @25 @25 | @31 @31 @31 @38 @38 @38
w @25 | @25 @25 | @31 @31 @31 238 @38 @38
X 106 | 146 146 | 146 146 146 181 | 181 181
Y 131 | 146 146 | 160 160 160 208 208 208
z 165 | 182 182 | 198.6 198.6 198.6 261.5 261.5 261.5
AL | 44 | 39 39 | 39 | 39 39 | 74 | 74 | 74
A2 31.2 | 312 31.2 | 312 31.2 31.2 40 40 40
A3 5 1 5 5 5 5 5 8 8 8
Ad 84 . 110 110 121 121 121 119 119 119
A5 11 | 13,5 13.5 13.5 13.5 13.5 18 18 18
A6 44,5 | 58.5 58.5 | 58.5 58.5 58.5 57 57 ‘ 57
A7 160 | 193 193 | 210 210 210 233.5 233.5 | 233.5
A8 91.5 | 93 93 113.5 113.5 113.5 133.5 133.5 133.5
A9 60 | 68 68 72 72 72 100 100 100
Pump 2 Pump 1 O
Drain port B & ) A6 INC.
Drain port A N Al Pressure adjustment
=] oy A3
DEC. . % Filling port
Flow adjustment i 0Q3% i
| m_ l- 9 . rt—
E— s = 5
— i —|7 E—IE 1 0| - 2:" . ‘i(‘-’
(&] S @ = B / '&- ?g
- % 0 <
HEEO R O
@{l‘* | L* A, [ g 2
E G R / X
J K Qutlet V I Y 1 Inlet W
L 2
M
AL AN B AN BT EA]




Pump combination - coupling

O —
ol I
Gear Pump
) ] Coupling ‘- Adapter
shaft
Pump 1 Pump 2
No = = ®Coupling
Model Model gA Shaft
15-1 V15,V18 Piston pump: V15~18, AR16~22 SAE @ 82.55 9T 16/32 DP COUP-V15+15
Gear pump: HGP-3A
231 Piston pump: V15~18, AR16~22 | SAEA ©82.559T 9T 16/32 DP COUP-V23-1
23-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-v23-3
23-5 — Vane: F30,F40,PV2R1 Cylindric ©19.05*4.76 COUP-V23-5
e Piston pump: V23~25 SAE B @101.6 Cylindric @22.22*6.35
23-6 ) — - COUP-V23-6
Vane pump: T6C Metric @100 Cylindric @22.22*4.76
23-3B 13T 16/32 DP COUP-V23-3
38-1 Vane pump,‘ T6C SAE A 982‘55 9T 16/32 DP COUP-V38-1
38-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V38-3
38-5 Piston pump: F30,F40,PV2R1 Cylindric @19.05*4.76 COUP-V38-5
Piston pump: V23~25, V38~V42 SAE B @101.6 Cylindric @22.22*6.35
38-6 V38 V42 COUP-V38-6
! Vane pump: T6C Metric @100 Cylindric @22.22*4.76
38-7 Piston pump: PV016~023 Cylindric @25.4*6.35 COUP-V38-7
38-3B Vane pump: PV2R2 13T 16/32 DP COUP-V38-3
38-4 15T 16/32 DP COUP-V38-4
70-1 Piston pump: V15~18, AR16~22 SAE A @82.55 9T 16/32 DP COUP-V70-1
70-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V70-3
70-5 Vane pump: F30,F40,PV2R1 Cylindric @19.05*4.76 | COUP-V70-5
Piston pump: V23~25, V38~V42 Cylindric @22.22*6.35
— R pump SAE B 21016 e COUP-V70-6
* Vane pump: T6C Metric @100 Cylindric @22.22*4.76
70-7 Piston pump: PV016~023 Cylindric £25.4*6.35 COUP-V70-7
=== Vane pump: PV2R2 13T 16/32 DP COUP-V70-3
70-4 15T 16/32 DP COUP-V70-4
@A ) Adapter @ O-ring
SAE A @82.55 23A-83-D G80
Vane pump @95.02 23A-83-G G95
SAE B @101.6 23A-83-E G100
Metric @100 23A-83-J G100

o FFHESL AL T A S T

eSpecification is subjected to change without notice.

A



Pump combination - coupling parts

Depending 2nd pump to use snap ring or not

(e : With snap ring)

©Couping @Snap ring Piston pump: | Gear pump: HGP- |Vane pump: F30, e
V15~18, AR16 3A F40

COUP-V15+15 R13 ® ® ® --
COUP-V23-1 R13 2 ® =
COUP-V23-3 R20 ° =
COUP-V23-5 R20 ° M5 x8
COUP-V23-6 - M5 x8
COUP-V38-1 R13 ° s
COUP-V38-3 R20 -
COUP-V38-4 - -
COUP-V38-5 R20 ® M5 x8
COUP-V38-6 - M5 x8
COUP-V38-7 - M5 x8
COUP-V70-1 R13 ° ° -
COUP-V70-3 R20 ° =
COUP-V70-4 - -
COUP-V70-5 R20 ° M5 x8
COUP-V70-6 - M5 x8
COUP-V70-7 - M5 x8
@ O-ring G55
@Pin @8x16 x2 nos
®Screw M8x30 x4 nos

o MFHEUL AL B A ST AN

eSpecification is subjected to change without notice.




Pump combination - thru drive dimesion

V15,v18

B
HL F
K
V23~V70
L
L2 M
J
A I il
ﬁﬂ] [ Adapter
Pump 1 [FDB—r— fsipanl
| = A .
i —— | 0 <«
1S}
NN
i 4
HI L LB 5
K F
Model 2nd Pump DA B @C D E F G
V15,v18 SAE A ?82.55 8.35 -- - - 106.3 | M10xP1.5
SAE A #82.55 8.35 @127 | 89.8 | M10xP1.5| 106.3| M10xP1.5
V23~V/70 SAE A ©101.6 10 @127 | 89.8 M10xP1.5 | 146 M12xP1.75
Metric @100 10 @125 88.39 | M10xP1.5| 140 M12xP1.75
Vane Pump| ©95.02 8.35 - 90 M10xP1.5 - =
Model K H J M L L2
V15,V18 33 13.5 |9T 16/32 DP| -- 185 --
V23,V25 59 13.5 |9T 16/32 DP| 32 237 205
V38,V42 66 20 14T M1.25 32 241 209
V50,V70 64.4 22 13T 16/32DP| 32 332 300

KOMPASS product specifications are subject to change with prior notic.

o MFHEUL AL B A A TIHAN

eSpecification is subjected to change without notice.



Pump combination - thru drive dimension

View A
Pump 1 V15, Pump 2 V15
Pump 2 Pump 1
p p Al DEC.
A3 Pressure adjustment
DEC. N O . A6 Q'g-gé
3 . = o
Flowadjustment ~ —2rain POt A M ~-E = Filling port
) § o -
°9 99 2
: . 0| - ©
o - [=1=1
| . < *é 2
- = w0
_\Q— H @CDQ = ] ‘?g "
o T ¢ It o

/1=
Outlet V ¥ Inlet W
pd

©
<

V/Z2yan|

-.l—!-\\

Wa
&

"
E

i

) 1__1
o .DIE-_:J gl
|
J

1

.
-

View B
Punp1 V23~V70, Pump 2 V15~V38

Pump 2 Pump 1 @
O Pressure adjustment
N 8] AB

Drain port A i
DEC. Drain port B - Q-o.oz
Flow adjustment - L2008
| 18 -
L | E— I oc g
—— AL o -
= =
Q ° © IR 8
sl PN \ a = B oY) o 9
\/l ¢/ T =
f;} (?}
AR |1 —
H —
El_ | = R
J LB K [ X
1 F Outlet V Y Inlet W
LA
Z
L
M

o FFHEUL AL B A ST AN

eSpecification is subjected to change without notice.




Pump combination - thru drive dimension

Pump 1 Pump 2 A B C D E E G I H |
Vi5Vv18 | V15V18 | G 3/8" (RC 3/8") G 3/8"(RC 3/8") | 5745 | 35.1 | 35.1 | 35.1 | 35.1 ‘ M8xP1.25x20 M8xP1.25x20
V23,v25 ‘ Vi5Vv18 | G3/8"(RC3/8") | G3/8"(RC3/8") | 65745 | 351 | 351 | 524 ‘ 26.2 M8xP1.25x20 M10xP1.5x16
V23,v25 | v23,v25 | G 3/8"(RC 3/8") | G 3/8"(RC 3/8") 61 524 | 26.2 | 524 | 26.2 | M10xP1.5x16 M10xP1.5x16
V38, v42 | V15V18 | G3/8"(RC3/8") | G1/2"(RC1/2") | 57.45 | 351 | 351 | 58.7 ‘ 30.2 ; M8xP1.25x20 M10xP1.5x16
V38,v42 | V23V25 | G 3/8" (RC 3/8") G 1/2" (RC 1/2") 61 524 | 26.2  58.7 | 30.2 | M10xP1.5x16 M10xP1.5x16
V38,v42 ‘ Vv38,v42 | G1/2"(RC1/2") | G1/2"(RC 1/2") 73 58,7 | 30.2 | 58.7 | 30.2 M10xP1.5x16 | M10xP1.5x16
V50,V70 J Vv15V18 | G 3/8"(RC3/8") | G3/4"(RC3/4") | 5745 | 351 | 35.1 | 699 | 357 ‘ M8xP1.25x20 | M12xP1.75x25
V50,V70 i V23,v25 | G3/8" (RC 3/8") | G 3/4" (RC 3/4") 61 524 | 26.2 | 699 ‘ 35.7 | M10xP1.5x16 | M12xP1.75x25
V50,V70 ‘ V38,v42 | G1/2"(RC 1/2") | G 3/4"(RC 3/4") 73 58.7 | 30.2 | 69.9 ‘ 35.7 j M10xP1.5x16 | M12xP1.75x25

Pump 1 Pump 2 J K L LA | LB M 1 0 L} B Q R S T U
V1518 | V1518 | 147 147 | 332 | 185 | - 382 48 | 48 | 6 | 4.76x32 13 | $19.05 21.15 | ¢82.55

| V23, V25 | V1518 | 147 170 384 | 237 | 32 | 411 | 48 [ 51 | 9 | 6.35x40 14 @22.22 25.08 | ©101.6

V23,v25 | V2325 | 170 170 | 407 | 237 | 32 | 455 | 51 ‘ 51| 9 | 6.35x40 14 | ¢22.22 | 2508 | $101.6
V38,v42 | ViI5V18 | 147 179 | 388 | 241 | 32 | 438 | 48 ,r 51 | 9 | 6.35x40 | 14.5 | 2222 | 25.08 | ©101.6
V38,v42 | V23 V25 | 170 179 411 | 241 | 32 | 464 | 51 51 9 | 6.35x40 | 145 | @22.22 | 25.08 | @101.6
V38, v42 | v3g\v4z | 179 179 420 | 241 | 32 | 473 | 51 ‘ St |9 6.35x40 | 14.5 | @22.22 25.08 | ®101.6
V50,V70 | V15V18 | 147 | 256.5 | 479 | 332 | 32 | 529 | 48 : 73 | 10 | 7.94x45 | 24 | @31.75 | 35.35 ?127
V50,V70 | V23,v25 | 170 | 2565 | 502 | 332 | 32 | 555 | 51 l 73 | 10 | 79445 | 24 | #31.75 | 35.35 @127
V50V70 | v38v42 | 179 | 2565 511 | 332 | 32 | 564 | 51 ‘ 73 | 10 | 7.94x45 = 24 | @#31.75 | 3535 @127

Pump 1 Pump 2 Vv w X Y Z Al | A2 A3 | Ad A5 A6 AT A8 A9
V15v18 | V15V18 | @25 @25 106 | 131 165 4 | 12| 5 84 11 445 | 160 815 60
V23,V25 | VI5V18 | @25 | ©25 146 | 146 182 39 | 312 | & 110 | 13.5 | 58,5 193 93 68
V23,25 | V23,v25 | @25 @25 146 | 146 182 39 | 312 5 110 | 135 | 585 193 93 68
Vv38,v42 | V1518 | @31 @31 146 | 160 @ 1986 | 39 | 31.2 5 121 | 13.56 | 58.5 210 113.5 72
V38,V42 | V23V25 | @31 @31 146 | 160 | 1986 | 39 | 312 | 5 121 | 135 | 885 | 210 113.5 72
V38,v42 | V3g\Vv42 | @31 @31 146 | 160 | 1986 | 39 | 312 | 65 | 121 | 136 | 585 | 210 113.5 72
V50,V70 | V15V18 | 38 | 38 181 | 208 | 2615 | 74 40 8 119 | 18 57 233.5 | 1335 100
V50,V70 | V23V25 | @38 | (38 181 | 208 | 2615 | 74 40 8 119 18 57 2335 | 1335 100
V50,V70 | V38,v42 | @38 @38 181 | 208 | 2615 | 74 40 8 119 1 18 587 233.5 | 1335 100

o MFHEUL AL B A ST A

eSpecification is subjected to change without notice.



